
Example Guide (Double Door)
The tiles are 150 x 150mm. The grout gap is 3mm.

You need a door approximately 380 x 380mm.

To avoid cuts use 4 tiles by 4 tiles on the door face.
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Calculate the Door Size:

Calculate the Outer Frame:
Outer Frame Width = (Door Width x 2) + (Hinge Edge x 2) + Centre Gap (Same as Grout Gap) = 629mm

Outer Frame Height = Door Height + Head + Threshold = 621mm

Calculate the structural opening required:

Order the door 609 (W) x 609mm (H)
Cut the structural opening 639mm x 631mm
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Structural Width =
Outer Frame Width + Fitting Tolerance

= 639mm
(10)

Structural Height =
Outer Frame Height + Fitting Tolerance

= 631mm
(10)(629) (621)

Hinge Gap
10mm

Hinge Gap
10mm

How To Order A Tile Door
To Fit Your Tiles

For Perfect Results:
Tile the door face first then tile the wall working away from the door.

Door Width = 2 x Tile Width + 1 x Grout Gap = 303mm
(2 x 150) (1 x 3)

Outside Frame X

Outside Frame Y

Door Height = 4 x Tile Height + 3 x Grout Gap = 609mm
(4 x 150) (3 x 3)
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